]
(&
N

FEH A

B (

)

REREF 1A1-9

|

WOFEE L S0,
1) (—4)*+2—10

(3) —12—(13—3)+5
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(2) (—3)—4x(—3?)

(4) 20—2x{3—(—5)}

6) —2°x3—(—4)" =(—2)

(2) 25x(—14)+75x(—14)
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@ DEER (O+0O) XA = OXA+OXA
AX (O4+0) = AXO+AXO
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(1) (—4) +2—10=16+2-10 (2) (—3)—4x(—3%)=—27—4x(—9)
= 8-10 =—27+36
= =2 -9
(8) —12—(13—3)+5=-12-10+5 (4) 20-2x{3—(—5)} =20—2x (3+5)
=—12—2 =20—2X8
=—14 =20—16
=4

(5) —7T—{(—2—(9-14)} =—7—{4—(-5)} (6) —2°x3—(—4) +(—2) = —4x3-16+(-8)

=—7—(4+5) =—12+2
=—7-9 =—10
=—16

(2] () & @ CHBHRREC RS TWEY, BEOTHRIE, XFRR LTSI NET,

(1) G —gj x(—12) (2) 25x(—14)+75%(—14)
3 2
:Zx(—lzygx(—lz) =(25+75) x (—14)
=—9+8 =100X(—14)

=—1 =—1400



